Graphing Trig Functions
    For: 
f(t) = Asin(Bt–C)+D,  

which is the same as:
 



f(t) = Asin(B[t–C/B])+D
(and this is true for all of the trig functions), we have:
        A:  amplitude is A ← if A is negative, reflect( flip) the graph over the X-axis
        B:  period is (2π)/|B|  ← divide by the absolute value of B
        C:  phase shift is C/B  ← Note: in 1st equation, not C, but C/B
        D:  vertical shift is D
Note: you can “force” B to be positive by changing the negative B: to a positive and switching the sign of  A.  See the example below.  [Note:  I set the 2nd C to 1.2 rather than 1 to “jiggle” the graph so as to make both graphs visible; you can see that both graphs would be the same if both Cs were exactly the same.]
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